ARCHITECTURAL ALUMINUM
N BALCONIES

() LEVANTE

General Balcony
Installation

©2022-2025 Levanté®, LLC All Rights Reserved.



Balcony configuration, bracket designs and hardware can

Ba I Co ny Vi ews vary. Assembly order, installation method to be determined

on site by GCs.

Top View Bottom View

Universal Mounting Plate

™" Tie Rod

Railing Posts
and Panels

Universal Mounting Plate

Deck Platform

Clevis Plate

©2022-2025 Levanté®, LLC All Rights Reserved.



Balcony Hardware

Typical hardware. Quantities and design(s) will vary.

3/8" x 6" Carraige bolt assembly

3/8" x 4.5" Carraige bolt assembly

Clevis Clevis Plate Seat/Knife Combo Plate

3/8" x 3" Carraige bolt assembly Universal Mounting Bracket

Rail Tek screw \

3/8" - 1.5" Bolt assembly

Frame Tek screw K a “
©®

Post washer plate

Seat clip

c'>
®
&

3/8" - 1.50" Bolt assembly Left Seat Pad Center Seat Pad Right Seat Pad

LEVANTE

ARCHITECTURAL ALUMINUM

©2022-2025 Levanté®, LLC All Rights Reserved.



Seat Plate Assemblies

PARTS LIST PARTS LIST PARTS LIST
ITEM QTY PART NUMBER DESCRIPTION TTEM QTY PART NUMBER DESCRIPTION ITEM QTY PART NUMBER . DESCRIPTION

1 |up-002 Universal mounting plate, 16 SDS 1 |up-002 Universal mounting plate, 16 SDS L |UP-002 Universal mounting plate, 16 SDS
1 |sPL Seat Pad - Left 1 [spC Seat Pad - Center L |SPR ___|Seat Pad - Right
2 |Bolt Assembly Hex 375 x 1.50in 2 Bolt Assembly Hex .375 x 1.50in 2 |Bolt Assembly Hex .375 x 1.50In : :
16 |SDS25412 1/4 x 4.5 SDS Double Barrier Coating 16 |SDS25412 1/4 x 4.5” SDS Double Barrier Coating 16 |SDS25412 1/4 x 4.5 SDS Double Barrier Coating
16 | Washer 1/4 Washer 1/4 16 | Washer 1/4 Washer 1/4 16 |Washer 1/4 Washer 1/4
1 2.875 seat clip assembly 1 2.875 seat clip assembly 1 2.875 seat clip

Seat Plate - Left Seat Plate - Center Seat Plate - Right

LEVANTE

ARCHITECTURAL ALUMINUM

©2022-2025 Levanté®, LLC All Rights Reserved.



Wall Plate Installation

Recommended plate installation methods. See unit specific balcony details, where supplied.

&

I E om o om

Q> O

= o =il o =)

LEVANTE

ARCHITECTURAL ALUMINUM

q

OOOOOOOOq

O

q

q

Center fasteners on studs

Notched sub floor by others
ﬁLy

<

N 4.5 SDS screws

B @ omom

c@> O

= o mENS o =)

OOOOOOOOq

O

L

q

q

Top Plate
4[ i Notched sub floor by others

// \ \\/ \
- \ 4.5" SDS screws
N
==

©2022-2025 Levanté®, LLC All Rights Reserved.



Tie Rod Clevis Plate

Prior to balcony being hung, attach tie rod clevis plate(s).

Deck Platform

Clevis plate hardware

/4

©2022-2025 Levanté®, LLC All Rights Reserved.



Open Mid-Rail Panels

Prior to balcony being hung, attach guard rail panels.

ai
(
|

(

u

-

Panel and post hardware

00|

@00 |

Front post connection Side post connection Top rail attachment

©2022-2025 Levanté®, LLC All Rights Reserved.



Glass Panels

Prior to balcony being hung, attach guard rail panels.

O

2

2

Panel and post hardware

Front post connection Side post connection Top rail attachment

) LEVANTE

ARCHITECTURAL ALUMINUM

©2022-2025 Levanté®, LLC All Rights Reserved.



Picket Insert Panels

Prior to balcony being hung, attach guard rail panels.

Panel and post hardware

00p| |

@00 |

Front post connection Side post connection Top rail attachment

©2022-2025 Levanté®, LLC All Rights Reserved.



Mesh Panels

Pr

il panels.

ior to balcony being hung, attach guard ra

N

Panel and post hardware

Top rail attachment

Side post connection

Front post connection

e

LEVANTE

||

©2022-2025 Levanté®, LLC All Rights Reserved.



Balcony Seat Installation

Attach seat plates to universal mounting plates prior to balcony install.

LEVANTE

ARCHITECTURAL ALUMINUM

Set seat at a minimum of 1/4" from wall siding

Follow balcony specific instructions.

a7

()

Jo-9

3/8" x 1.75" bolt hardware.

Attach seat pad to seat plate

with @ minimum of 2 bolts, 1 per slot.

©2022-2025 Levanté®, LLC All Rights Reserved.



Seat Pad and Clip

Seat clip and hardware

Typical Hardware

Decking overhang varies

Ideal position is back tube ] .3

and seat pad to be flush.
Do not hang off back of seat pad.

\ Siding

B LEVANTE

ARCHITECTURAL ALUMINUM

©2022-2025 Levanté®, LLC All Rights Reserved.



Tie Rod Knife Plate

Clevis Hardware UP-002 Bracket

D

ARCHITECTURAL ALUMINUM

LEVANTE

©2022-2025 Levanté®, LLC All Rights Reserved.



